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What are MI Verbs?
MI Verbs They are an older conjugation of verbs and get their name from their
present active indicative ending: 83wt (cf. omega verbs—Adw).
Chapter 24 - - -
MI verbs have no connecting vowel because their stem ends with a vowel: |
didwpt > do-
Tifqut > fe-
fotmqu >  ota-
Present Active
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Present (Progressive) Forms

The present stem is characterized by an old reduplication
similar to the one found on perfect stems, except this older
form uses an iota (1) instead of an epsilon ().

Oidwt Tl lomqu

This reduplication has no perfect meaning and is
always found on MI verb present stems.

Singular Plural
1 Person  OLOWLL dldopev

2" Person Bf&dg oldoTe

3rd Person 3{3&)0’[(1}) 3136(20‘1(1/)

Note: the singular form has long vowels (@) & the plural has short vowels (o).
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Aorist (Simple) Forms

The aorist stem drops the old reduplication found on
the present stem. The kappa (NOT the sigma) is
found at the end of the aorist active indicative stem.

fwxa  Enxa  Eomnoa

The verb feyp does not use a kappa in the aorist in order to

differentiate it from the perfect (= &omxa).

Principle Parts

6 Principle Parts of didwu

Perfect M/P dédopat
£3d6yy

il




Present | Imperfect Perfect
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BN Ofdwwt  €didouv dchow Boxa  dédwxa Principle Parts Jahil
,
2S LAY £didoug dWaElg #wxag dédwxag
resen

3S Y ¢didov dwoet #wxev  dédwnev
IV Oidopev  é0idopev  dcdoopev  E0wxapev Oedwdxapev i
Al didote ¢didote dwoete  é0wxate  OedwnaTE
RI O106aoty  €didoocav  dwoousty  Edwxav  dédwxav érébny |

Principle Parts o Present Forms = ek

6 Principle Parts of {otnu

Tonus

oTHoW
gotnoa
gotna
goTapat

Perfect M/P

ill

¢otdbny

MI Verb Q Verb Parsing

d1dolg Abwv |Pres, Act, Ptc, m, n, sg I
d1dbpevog  Avdpevog |Pres, M/P, Ptc, m, n, sg |
0196 Ap |Pres, Act, Subj, 3, sg I

o196t AvéTw
dddva Adew

|Pres, Act, Impv, 3, sg I
| Pres, Act, Inf |

Aorist Forms
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MI Verb Q Verb Parsing

dolg Moag IAor, Act, Ptc, m, n, sg |
doBeig Avbeic |A0r, Pass, Ptc, m, n, sg |
2] Aoy IAor, Act, Subj, 3, sg |
dbTw Avodtw IAor, Act, Impyv, 3, sg |
dotvat Ao |Aor, Act, Inf |

Other Forms
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The verb foeTnut has both a first aorist form (¢¢nee) and a second
aorist form (Eonv).

transitive

goToa (1% aor)
é'o'mv (2m aor)

|“I stood [something] up”

intransitive I “I stood up” I
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| If you see a verb with dw- or Jo-, assume it is from {dwp. I

15t Person d¢i7"u &q)ioy.sv
T Because J0Befang does not have the old reduplication (3td) or
2" Person  QUADELS 3 ieq-s icati i
¢ a¢ reduplication (3ed), it cannot be present or perfect.
il 3 13 3 14 . . .
34 Person acp natv a(plOUO' v Therefore, it must be aorist and because it has
no augment, it cannot be indicative.

Note: the singular forms follow other MI verbs but the plural

follows omega verbs.
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Aéyw yap dia THe xdpiTos THeLLE L Jrot

The article Tjg calls for a participle and the -Be- makes it
passive (= A P Ptc f g sg, “which was given”).

Because the participle is used attributively, we
need to supply “who/which.”

“For I am speaking through the grace
which was given to me”




